OFoA A, B, CE =27} 535t Al __6km.  3km_
npZolth, AukEat BukS Ato]o] ARl A B C ©
6km, BUF=}F CHb Afo]o] Ag]= 3kmo|th. o] & 9o &
shte] o2 mhZo] Ql=dl, 11 vkt A Abo] 9] ARl 1 ukEat C
uh-g Aol ] Ag] o] 2ufjoltt, 1 uhE¥ BulE Afo] 2] A7=?

@ 6km @ 9km ® 12km

@ 15km ® 18km



2.

g™ 9o Al M A(2, 0), B(3, a), C(4, 2)°ll ti5te] AB = BC
A, q o FHe?

@1 @ 2 @ 3 @ 4 ® 5



3. =4 Al 2b+a), B(-a, a) Aol2] A7} 2v5L 1, a2 + 52 ]
ae?



4. FEPY 919 % 4 Pa, 3), QL a)° B5te] PQ = V2 & ), a
o gre Fatolet.

5 J=X
=%



F A A-1, 2), B4, 54 &2 Aol = x5 A A Pehy=
9ol MQ o] FxE 52

@® P(2.4,-1), Q(0, 6) @ P(3.6,0), Q(-1, 6)
® P(3.6, 0), Q(0, 6) @ P(2.4,0), Q(0, 5)
® P(3.6,0), Q(-1, 2)



(a,3), B(-

52 5

@0

1,-5), C(3,7) Q1 AABC7} /A

Lg% a9 A5 B0

@1 ® 2



PB 9] F[&72?

@ V371 @ V38

@ V39

4 A(3,2),B(5,4) & x = A€ =2l A P ol

® V40



o2 1O AABCOA AB =6, BC =8,
AC = 40|31, BC o] o] MY 1], AM
o] gr& Fsteler.

D R
=%



o2 11 Al7] 7 ofetu]ote] ekallof 1o = -85 W
& Arolo] T T 180 4RIt A Qe £ U
Z}Z} 20m , 30m ©] 2 F U5 Afole] Azl 50m ot} ZH]
7)ol A7t ekobal =1l Q1= g uhe] o] E117]E k2] a QIGIT
o] &7 2| o] A7} F Aol dobA A& 9= 11 17| A S0l
Eo] T 21717} Al gl FEsteith & uhe] o] o] £x 7t
2o otES o, Eo]7} 20m Q1 UF WolA B 7px] 0] A

W m %] Fajolet

Be .

N
©
2
o rr



10. Al A AL, 6), B(-2, 2), C(4, 1) HAHOR 5} 4249 ABC

9} 91019] A P(a, b)oll H5te] PA” 4+ PB’ + PC” 9] gho] 24 o,
a+ b2 32?

@ 2 @ 4 ® 6 @ 8 ® 10



11. AABCO®WIBCY FHS Mozt @ o, AB=8, AC=6, BC=10
o[ AM 9] Zo]=?

@ 4 @ 5 ® 6 @ 7 ® 8



12.

AABCOA AB = 8, AC = x°]1, BC9 ZH& Mo|gt &

BM =7, AM =1¢ ], x¢] gk& F-sfoiet.

Be-



13. x99 9ol & A A(a,b), B(-2, 2)7F 3lek. o] 09, Va2 + b2 +
Vi0a+2)2 + (b-2)2 9 &2

@1 @ V2 @ 2 @ 2+2 ® 3



14. Al o] FH4o HET (-2,3), (3,-1), (5,4) A A2 o Al

I
N
o

o

@ (-1,8),(~4,-2),(10,2) @ (0,8),(4,2),(10,0)
® (-1,8),(4,2),(10,0) @ (-1,-8),(4,-2),(10,-2)

® (0,8),(-4,-2),(10,0)



15.




1

@ 3

® 2

@ 3

D 4






18.

A A AL 4), B(-2, 3), C(3, -2)2 BRHOo2 5t AABC 7}

9tk /A 9] o] 58
o] gL Fatolet.

3Ke

LI

5 L
=%

| 91 BC ¢} ¥hvp= H& D(a,b) 2t € M, a+b



